tan B
® a=ccosB

@c =asin (90° - B)

® c=bsinB+acosB

B

b b
1 B:— =
Ot c ¢ sin B
b b
tan B = — ; =
@ a tan B
@COSBZC—I . a=ccosB
c
® A C oA AB ol & =42 TS H 2 5tH cosB =
BH _
— .. BH =acosB
a
AH —
cos(90 — B) = - . AH=>bsinB

~ ¢c=AH+BH = bsinB +acosB




th2 1o AB = Y O 9 | Eo]1 C
/AOC = 120°, /ADC = 90°, AO =
12cem ¥ o], AAOC 9] Yo|=?

120°
A oer 0 D
O 12V3cm? @ 243cm? 12 cm
@36 V3em? @ 48 V3cm?
® 60v3cm?

B

(d°l)= 5 x A0xTD
CD = 12sin60° = 6 V3
mehA] AAOC = % x 12 X 6 V3 = 36 V3(cm?) |t}




B
AH — V342

tan(90° — 45 °) + tan(90° — 60 °)

_ V3 +2

~ tan45°+tan30°

_ V3+2

- i_
(«f+ 2)

T 3443
_ (V3+2)(3-V3)
+\f2

2




o2 1} o] AABC oA A =
75°,/B=60°, AB=10cm ¥ 1,
h ©] Ao|& F5HH?

?cm @ 10cm
1 2
@5\/§cm ® O%w_cm

~&B

IOCIﬂ
B 45
O3} Zro]l A1 A of 4 BC o W D =} st
AD
i °c=__o|Bg
sin 60 0 [l

AD = 10sin60° = 5 V3(cm)

MmO




® 108

B

AADH oA
AH = AD cos60° =6
DH = AD sin60° = 63

304( cm)

ABDH ©f|A]
BD = VBHZ2 + DH?
- \/(6+8)2+(6\/§)2

@ 144 ® 196 @304 ® 340
D oA AB 9] d1#-Ao] y& 49 2 H 2 51




tha 199] AABC ©llA AC 9] Zol?

Vi @62 O3 @712 @7

~&B

H AN W

o
i)
oy

AH =8 xsin60° =43
BH = 8 X cos60° = 4
o AC = 1/(4V3)2 +8 =47




7. o O gol F iAol dolvt 24

D 14V2cm? @)28 cm?
® 14V3cm? @ 283 cm?
® 56cm?

1
S :§><7><8><sin0:28sin9

ojuff g =90° Y i, Ftfo]B = XHZL-2 sin90° Y wfo]rt.
whabA] § O X THFE2 28 cm? o] T




~12/3cm -

® 110 V3em? @ 120 V3cm? ® 130 V3cm?

@124 V3em? ® 150 V3cm?

B

ABADEAESIH
(DABCD ¢] Wo|)= AABD + aBCD

1 1
:§><8><8xsin120° +§x12\/§>< 12 V3 X sin 60°

1 3 1 3
:§x8x8x7‘/_+§x12\/§x12\/§x§

=16V3 4+ 108 V3 = 124 V3(cm?)




